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1.  Match list-I with list-II and select the correct 1.
answer using the code given below the lists -
List-I List-II
(Folk Sor'lg_ ) (Occasion of Singing)
(A) Chaiti (1) Sanskar geet
(B) Kajari  (2) Braj Lokgeet
(©) Rasia (3) Vivah and Seasonal
geet
(D) Sohar  (4) Seasonal geet
Code -
: A B C D
(@ 4 3 25T 1
M) 3 4 1 2
@© 1 2 3. 4
da 2 1 4 3

2. Which of the following relaucm is not 2.

correct?
(@) 1 Byte=38Bits
(b) 1 Kilobyte = 1024 Bytes
(¢) 1 Gigabyte = 1024 Kilobytes
(d) 1 Terabyte = 1024 Gigabytes

3. Which of the following is not correctly 3.
matched?

(State) (Hot Springs)
(a) Himanchal -  Manikaran
Pradesh | R
(b) Odisha -  Taptapani
-(¢) Maharashtra -  Vajreshwari
(d) Gujarat - Narayani
4. Which of the following is not comectlly 4.
matched?
(a) Companies Act— 2013
(b) Indian Contract Act— 1870
- (¢) Partnership Act — 1932
‘(d) Sale of Goods Act — 1930 )

5. What was the total percentage of Central 5.
revenue spent on Military force in British
India?

(a) 40%
(b) 45% it A
(¢) 50% ~ i.'rm.
55% % Sl
(d) - ? e,V
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6. In the Kakori Conspiracy Case, the main
accused Pt. Ram Prasad Bismil was hanged in
which city of Uttar Pradesh?

(a) Varanasi

(b) Gorakhpur
(c) . Kanpur

(d) Lucknow

: East Uttar Pradesh first Cable Car Service has
*  started in which of the following district?

" (a) - Etawah .
" (b) _M’aharajgan']
(c) Jaunpur
(d) Mirzapur

Tulsi plant has medicinal values due to .the

frrfaRaa % & 5w Sue 3 o g2
(@) sTrar o
(b)  HERTSTIS

" (© SFR
@ '

8. QER%'
i presence of the, following - - : Etrﬁen—;: :2?3( b1 32‘5[5_51}5‘1 Hewa f=faRaa &
(a) Inorganic A-c1d " o @) 'E‘”U[W
Organic Acid ‘ b SECIRES
© Phenols an.d Flavonoids © HTafn St :
(d) Lithium Bicarbonate | @ et Tg “r?liﬁ?msﬂ
9 which one of the following words cannot 9.  fr=rifthg = N ¥ W W —_—
" written from ‘TEAC}IERS- word? “TEACHERS’ wre & =8 e Td -
() SREACH @ REACH . —— '
(b) CHEER (b) CHEER
(c) - SEARCH F Spt
e C};Atl: following is considered | 1 @)  CHAIR,
ich of the: \ nsidered a : ; :
10: mh;sl;ot" of biodiversity in India? - ? Wg.m ﬁm L jfm‘-r s Sta—fafaerar
(a) Aravalli Hills & S ST 7
‘(b) Western Ghats b) Enquli% a1
(c) Eastemn Ghat.s . © tgﬁqia =l
(d) Indo-Gangetic Plains @- ﬁqvgm o
11, Consider the following events and arrange 11. fr=ifarRyc Elema,ﬁw iR 3%
' them is chronological order : _ _ W_ﬁﬂ'ﬂ BTG
I  Establishment of ‘Gadar Party’ by IR e R -
. Lala Hardayal. - ot 'tlz"?@l?v[ ERT ‘TR U
[I. Establishment of ‘Servants of India AT
. Society’ by Gopal Krishna Gokhale. NI T gRr wew AT
- III. Publication of Hicky’s ‘Bengal KSR DY AT |
Gazette’. : L R & qmer rore’ @1 gerEH |
IV. Establishment of ‘Bengal Asiatic IV. W faferm W=7 gry 9t T,
.- Society’ by Sir William Jones. : AERE” @Y <IeT | .
Select the correct answer using the code given R Ry g @7 v axd wE S P
below : : T HRw - o
Code - He —
() IILIV,IIandI (b) Iﬁ ’IV o
(e T LY, s © IV,ILISRI
(d) IIIV,IandII @) HI‘ IV,IGfT‘\’II
' : } bl _/
[RRST-01-B]
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12.  Where in India, the first rubber based tyre  12.
Metro is being built? SIT RET ®?
(a) Ahmednagar (@) IEHTTR
(b) Surat (b) R .
(¢) Vadodara “(¢) m
) Dl @ R
13. The chlef source of Hydroaen Su]phlde 13. 313@?[7-[ Wwﬂ@@ﬁg _
(a) Decaying vegetaunn and animal (b) ana‘r GRS
matter
c Regd
- (b) Automobiles - Ed)) x S
(¢) Oil Refineries : . g A
) (d) Thermal Power Plants
14. Consider the following events and arrange these  14. ﬁf‘"‘l’%%{ﬁ AR (?flGﬂTaﬁ) W ﬁl’fﬂ’\’ a—ﬁﬁm :
in chronological order — . '
0] Launching of Community - TAR- AR BT — '
~_Development Programme (CDP) : ' (I) 'ﬂTﬂﬁTﬁﬁF AT Hrima ot ‘{Iﬁi’rﬂﬁ
() Recommendation of Democratic - ‘ Fidq) e
Decentralization : D) - uSIaie ﬁ?!\vfsﬁw P AT N gt
- (I) Initiation of Key Village Scheme :
 (KVS) _ D & R wm B ged
(IV) Setting up of District Rural @dTw) .
Development Agency (DRDA) at av) Rrar = ﬁ!’(ﬁl’ﬂ STﬁ’I?hTUT
Select dlsm‘i“e"d fi the code given (@W@Q) &l bl
elect correct answer from the code giver _
sy ._%ﬁﬁ@aﬁﬁﬁwwrwa%ﬁm
(@ (D, @D, (I, IV) @ (D, (D, (1), aV)
(b) * (1D, (1), (IID), (IV) (b) (1D, (1), (II), (IV)-
(© ), (M, dn, (aIv) (o I, (M, aI), (IV)
(d) V), (I, am, 1) @ av), ), dn, d- . 3 e
"15.  Which of the following state in India has 15. "9Ra 9= Refd Raré 2019 S IR,
maximum number of tribal districts as per ' ﬁ'n:r%{ﬁqﬁ ¥ I frg g § sEedE Rora
“India State of Forest Report 20197 P T g9 s 22 :
(a) Nagalan_d (a) ATTATS
(b) Meghalaya (b) A=reg
(¢) Mizoram (¢ e
(d) Manipur @) Hfﬁrg(' ‘ o 5 _
16. Which of the following is hit men_ti,oncd in 16. 9Rd @ '?ff& |Sdlg, - Entn?' q Tt ot
the ‘Farmers Produce, Trade and Commerce 2020° f{ J = H ﬁ:}ﬂ:{?ﬁf Sl :@r frar
Bill 2020’ of India? T &7
(a) Essential Commodilics -~ (a) S IEED G W
’ (b) Contract Fal'l'ﬂing¢ (b) “ﬁa-r q;fq )
(¢) Minimum Support Price . © ~gEaH aHei .‘ﬁ
(d) ‘Agriculture - Produce  Market ) ?asf& 8 : -
Committees - ' ¥ OIS !Iﬁl%lm_
[RRST-01-B]
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17.

As per census 2011 of India, which one of the 17.

_ [RRST-01-B]

WRA DI STEOAT 2011 & IMER, SR T
following city of Uttar Pradesh is not a & fFafoRad =T d 9@ ?ﬁ? T e} ﬁ’lﬁﬂﬁ
‘Million City’? ey TE 2

(@) Agra (@) AT
(b) Prayagaraj (b) AT
(c) Meerut (é) e
(d) -Moradabad @)
_ . HRIGTETS
18. In the Preamble of the Indian Constitution, 18. ¥RWW WU & Uwara=T f-i gD T
which Justice is provided to all its citizens? 3 AFTRSY B DY AT T TS DR 9B =T
~ (a) Social, Religions and Political o T '? _
(b) Social, Economic and Cultural _(a) il MiTes, enfie o el ISR
(@ Social, Political and Cultural ?’)) AT, St | ;“*?'E'ai .
(d) Social, Economic and Political C(d) | TR, Y g Tofe
19. With reference to crop rotation, which of the  19. HHA 6 ® Aed H, FrEfafad § ¥ 9=
0F 7 fbllowing statement is/are correct? ' T HU el & f-g‘?
(1) - Deep rooted crops should ‘be () B T 9l Bal B 9T 99T
followed by the same type of crop. TRE @ Bhel ST =Ry |
' (2) Legumemust be followed by a non- (2) HARR BEA B 95 Q997 Bl arel
legume. B ol AMRY | - :
Select the correct answerusmg thecodc gwen i Ry T W Eﬁr WA TS E 9w
. below - . gﬁq-q =), ;
Code - LE
D) oy (a) daet 1
(b) Only2 |
(b) Haa 2
(c) Both1and?2 il 3
*(d) Neither 1 nor 2 © 1 PRATI
: : , : @ JAAa1arE 2
20.  Which of the following Indian President also  20. .fr=feiRad ¥ ¥ o9 ¥ S wcrf?r Eicg
; - served as Speaker of Lok. Sabha‘? AT 3reer W e 87 .
(a) Fakhruddin Ali Ahmad (@) PEIE Il IeHS
(b) Dr. Shankar Dayal Sharma () < vieR < vt
(¢) Dr. Zakir Husain . (©) =i wfx g4
.(d) Neelam Sanjiva Reddy ~*~ C () o Eoia S
21. Niger crops is a oil seed crop. What is the 21. = HIgoR RMfd) BT BHA T Al BT HHA & |
- content of oil in its seeds? j 59 Aol F Al B AT b o o @7
@ 7-16%: D (@) 7-16%
(b) 17-26% (b) 17-26%
(© 27-36% © - 27-36% .
(d') 37 -47% d) 37°47%:
Page 5 of 32 -




22. Which of the following Union Territory of 22. 2011 @ SIIvET & 319N, ﬁwﬁ‘wﬁ‘m ERY
India has the lowest sex ratio as per census AR ® o dw wRE w@er # T‘Tf‘ﬂq
2011? qraT ST 27
(a) Chandigarh @) =g
(b) Daman and Diu M) =TT g €
(¢) Andaman and Nicobar Islands (©). aieHT—fre ' . .

(d) Lakshadweep '
@ ey
" Utar Tradesh ‘Which of e ohowing Ty e Sy T <t
vhich o e fo owmg T -
statement/s is/are correct? 2 Ve T ﬁ il |t/ ﬂ‘ Lk _@_
(1) The oldest evidence of agriculture in "—(_1“)“" T Rt
= =249 (ﬂﬁ_ﬁﬁ Wﬁﬁ
the global context has been obtained AT ﬂ‘cﬂ:f'?% H Hiy Ef? m?jl"-lﬂ“l F[':”-f'
from many excavated sites in this T Y &) U '
r_egion. _
(2) The oldest cultivated food grains are (2) ﬂ'ﬁ‘ﬁﬁﬂ'ﬂr areq ?ffef 3 ST Sﬁ’\’ CIN]
barley and paddy. N
Select the correct ans“erusmgthecode given ﬁ’:{q Tm TE BT TN D ﬂ_gf g Bl
below — ; 3 l ‘ Eﬁl[ﬁlq B3
Code - 5
(@) Onlyl (a) Had 1
(b) Only2 (b) FageT 2
(©) Both1and?2 (©) 1 3R 2 gFr
(d) Neither | nor2 @ a1 ard2
24. The Six Points Formula proposal of India for 24. <féor ufRmars & ® fig Ra &1 B Tﬁ’[
South Asian Region was presented by which YT, WRA & fohd TATTHAT §RT ‘Jﬂﬁﬁ “sar
Prime Minister of India? “ITT TP
(@) Manmohan Singh (a) HaHEA Rig
(c) Narendra Modi © g I
(d) Inder Kumar Gujral d) = TAR TORM iz

25. How many Squares and Triangles are there | in 25, fy=faRea smepfa # fFaa H“f’ qorr fare

the following figure? F—:fgvr ‘E? '
(a) 2 Squares and 16 Triangles @ 2 9 HQ’“_ 16 Py
(b) 2 Squares and 14 Triangles () 297 qur14 Brer
(¢) 3 Squares and 16 Triangles (¢) 3@ qur 16 Brys
(d) 3 Squares and 18 Triangles (d) 3af g 18 eyt
.
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26. With reference to Indian Civil Services, 26. wRd RiR@ Ja1 & wFot § frafafaa
which ?of the - following statement/s is/are FA H W DA/ FAT GE B /7
correct —_—

I. Government of India Act, 1919 1. 9Rd AR ARFHEH, 1919 # ard
provided for aseparate examination for e a1 @ v v arer uEm @ T
g:‘hlé‘l‘:l‘?: I(r:l]d\:::tl Service, which was to wraEm= fear T, S WRE § @ o |

2. In the Indian Civil Service in 1941, the 2. Wt e T 1041 H, Al a1 ¢
percentage of Indians was more as gferera GRuaRal | e o)
compared to the Europeans. = g 7T w5 FT U4 RS 98 IR DI

Select the correct answer using the code given =g BT -
below: . HE — -
Code - =

(a) Onlyl e W 1

(b) Only2 (b) dIdT2

(¢) Both1land2 (© 13R2aE

(d) Neither 1 nor 2 | d FTaAr1Ta2 ¢ 7

27. The ‘Tamaria’ Tribes are found in which.of 27. TARAT S ARG & Fre=feRaa few e

" the following state of India? H R Sy 87

(a) West Bengal (a) uR=w dwer

(b) Ra_} asthan , (b) EINEY 1]

(C) Jharkhand (C) g W

(d) ° Madhya Pradesh (@ T owRer

' 28. As per the SDG India Index and Dashboard 28. ¥R T AT gRT weifdm wHELSh
& 2020-21 published by the NITI Aayog of SRAT ST TG SUEIS 2020-21 B IR,
India, which one of the following state was fr=fafad 4 9 o9 w1 v 999 e

not among the top ten states in their A= HERT /M wesH § i ew

. 771 performance regarding Sustainable ¥ gftaferg =51 ar? ST e e
Development Goals? L —

(a) Punjab (@) usTEg

(b) Sikkim ) Rifaw

(¢) -~ Uttarakhand (0 TTEs s

(d) Goa (@) e _

29. In which of the following countries 99 29. f=fiRed # & fFw Qw § Suah ga wuf
percent of its total energy requirement is SETAHAT BT 99 AT STAfaed & wra gan
obtained by Hydro-Power? ° _
(a) New Zealand (@)  guilds
(b) Switzerland (b) Racsres
(c) Norway () dA[d

| () < Braal (d) st T
" 30. . Which of the following countries is the 30. fy=faRaa ¥ ¥ fQwg #§ 9ol & 9™
largest producer of fish in the world? SUEH I P AT &7

(a) Japan (@) <mOH

Eb)) ghi“? (b) Hit o

c) Russia

@) USA (© . 9 .73

@ 3JuEu

[RRST-01-B]
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31. The largest source of National Income in* 31. HRA Y IS - afargwer &1 S EREC | i
India is - G :
(@) Service Sector @) Jar &y
(b) Agriculture Sector (b) TR axy
(c) Industrial Sector (©) N=nfre o=
(d) Trade Sector d) auR &y
32, ‘Glft::nra;:?:caa;l Ind:C:;thﬂ Tag’ for black 32. =I% dfed o fore Rramnfrea seae éjT
pottery sociated with which of the SR ey § fefofag 3§ ﬁa'ﬂ vl kil
following place in Uttar Pradesh? g {7 '
(a) Najibabad
e @ “oiEEE
(b) Khura b
(c) Nizamabad (b) gwit
(d) Kasoanj E::i)) ﬁTﬂT‘Tﬁﬁ
8" D i s
fo'fﬁﬂiﬂgﬁﬁﬁ;fpﬂﬁﬁii"‘d in which of the 33. yuwTE a8 FrfiReg S S # |
- (@) Satpura National Park (a) Rerer 27 o '
-(b) Kanha National Park (b) EﬁFb’Tg e
(¢) Bandhavgarh National Park © qivaTs T =
(d) Madhav National Park - - ; .
4. o - ‘ , - d) g Iy Qe
. 30332;;:; coce message, ‘HOTEL iscodedas  34. U& T ®re @33 § ‘HOTEL’ & 300, &
at will be the code for ‘BORE’ in the 9 A He far oimar 2, o) o oe § ‘BORE’
same code? BT BE T BFTT?
(@) 60 (@ 60
(b) 160 (b) 160
((fl)) 130 () 140
4 “ d) 40
35. Which of the following state of Indiareported  35.  SI=F9[ET 2011 & IR, IRA H ﬁ?{ﬁi‘%ﬁ
lowest percent of urban population, as per T W B QI T HIHE BH TTRIBRT
2011 census? &1 gfier <5 fFar?
((:ta])) I;hmachal Pradesh (a) ﬁmi%qma S| : :
ar (b) : ‘
(¢) Odisha (c) 3nfSem
(d) Rajasthan : (d) <o
36. Consider the following Governors of Reserve 36. Raid §& 3% $|3ul & FrefaRaa TIT:FK"I L4
Bank of India and arrange them. in far ox wd 9= ISR qRerd
chronological order- ' - '
[9*9 @ Dr. C. Rangarajan M Sl :ﬂ% : Gﬁl i tlé?»fi !
N\ (1) Dr. L. G. Patel (g) ?’T &
TV (If)  Dr. D. Subbarao (I\?) g ng Rig
) XH (IV)  Dr. Manmohan Singh ( 4 Ry T BE 31 ganT wvd a8 IR B
K.s; Ifellecl correct answer using the code gnven o ERTT —
elow- HE — . e
F de - T -
el (IV) a, (II) i dz(I]D (© av),q®, (H)'eﬁ'\f (I1I)
d @D, (D, AV) and () @) dn, @, av) . (I11) o

E&ST-M-B]
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37. Which of the countries is signatory to the 37. FrEfREd ¥ ¥ PE-_FT A Jw IETEA

Abraham Accord? FHSIT (Abraham Accc;rd) S
(a) Israel, Saudi Arabia, Egypt, Jordan @ FoRIEE, W94 IRE, f, e
(b) Israel, United Arab Emirates, Egypt (b) 3IORIZA, €T NG IMRME, A,
Bahrain, Libya : iR Eﬁﬁ'ﬂT |
(¢) Israel, United Arab Emirates, (c) SoRIEd, Agad ARG IART, g8
Bahrain ' (d) 3IOREA, GSM, JIHARA
. (d) Israel, Sudan, Afghanistan, Pakistan qifeEE
38, Match List-T with ListIl and select the 38. <@I-I &I - | FARIT HIQ Tor =
correct answer using the code given below — feg T @we @1 UANT B el IR BT Iadd
. BIfg —
: : 1 ST
List-1 g List-I1 _
Soi) (State) freel) . (roa)
(A) Alluvial (1) Rajasthan ' (A) e (1) TSI
(B) Black (2) Uttar Pradesh (B) el () SR U
(C) Red = - (3) Maharashtra e © 31. Tt 3) HERTE
(D) Desert  (4) AndraPradesh (D) TRE™  (4) I uSy
Code - wHE -
A B C D A B C D
@ 1.4 3 2 @ 1 4 3 2
- (b) : 2. - 3 4 1 () 2 3 4 1
© 4 2+ 1 3 (© 4 2.5 A 3>
@ 3 4 2 1 i @ 3 4 2 1
39, Which of the following statement is not - 39. Tr=ifaiRad i & w1 | T T A 82
correct? - ) (@) 3 Ad— SOESD FA BT Wehh
(a) Email - refers to Electronic mail AT - :
(b) WWW - refers to World Wide Web (b) @ﬂ@ﬁl@?«%— m‘m AW T
CPU - refers to Control Processing ] .
e _ © WA - FEw AR e 7
Unit . ‘ a8 3 :
(d) ALU - refers to Arithmetu; Logic | @) TTAg — seifes wifre e @
Unit - Hefifq o ¥ ¢
40. Cyclone “Tauktae” was formed in which 40. I THawl oA “drea’ &g IR
. ocean? ST BT ofT? ‘
(a) Bay of Bengal @) e A @)
(b) Ind1a§1 Ocean ®b) R =&
(¢) Caspian Sea LU

(d) ArabianSea - S (©) PRomm TR

[RRST-01-B] Sl durhs



41.  Which of the following is not correctly 41. ﬁwﬁ:rﬁga ﬁ@raﬁﬂﬂé’rﬁﬁﬁ‘—mﬂﬁ%?

matched?

i ' (d) Oceans, Mangroves, Lakes and
{ Grasslands g ' ;
] 45. Under which aricle of the Indian 45. R wfus & fda sgms & afq,

8 (a) Primary Energy — Tidal Power : (a) Wﬁ?ﬁ EG” GEII?IZI NIER
' (b) Commercial Energy — Oil and Gas ) qﬁm Wﬁ - dor.aiv i
(¢) .Non-Commercial Energy — Animal g
Dung © R—afiRas Fut — SRl $T MR
(d) Non-Conventional Energy — Solar @ IR-URuRE FHelf — AR ot
i . % Energy : _ i
| 42. Traditional Folk-drama “Bhand-Pather” is 42. UNIRG de—Aea  Mie-uRR” Y
' related to which State/Union Territories? R0 /B R U e 87 |
(@) Jammu and Kashmir (@) PR
(c) Uttar Pradesh (C) W m
(d) Assam ( a) :
43. Choose the odd one out from the following- - 43. fr=foRaa & & 1 &y gfg-
(@) JR6 . (@ JR6 '
(b) RV3 (b) RV3 \
() EKS ' (6) EKS5
d) DG2 r : ¥, @ DG2
44. Which of the following is correct sequence of 44. ' Hed STEHAl & HH § 31‘21\1‘&"{%4?{ # Eﬁ? il
ecosystem in - order of decreasing CIEGE o e 87 (
L 1 productivity? s 2 ot
| - (@) Ocean, Lakes, Grasslands and - . (@ ¥R, 39, U™ &7 JF IR Hmg
i | Mangroves . ' : '
(| (b) Mangroves, Oceans, Grasslands and (b) HUE, AR, U BT AT Gﬁi‘ I
| Lakes ' . - :
(c) Mangroves, Grasslands, Lakes and (c) HUME, O T HeH, A 3ﬁ-\r b
Oceans (@ «rR, {09, i &R aN & AT

£ . Constitution, the Parliament can make laws ) ﬁqf@a Tasial &Y gHrear 99 gg Fe e red
(1 “on State List subject for giving effect to _ T G 3 vy W™ W 97 gHAT 27 -
[ international agreements? ;
| . eqaﬁia — 252
} (a) Article - 252 @) -
¥ (b) Article — 249 (b). TV — 249
B (© Anicle-250 (© . ITDT — 250
/ @ Aicle-253 o . e ()P 200
! / [RRST-01-B] Page 10 of 32
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46. With reference to the temple of Bhitargaon,  46. PR, ST v Rerd Hiaweifa wfex & e
Kanpur, Uttar Pradesh, which of the 4, frfefaa dol 4 & 9 w1/9 Fo
following statement/s is/are correct? @-i/—g ?

: g T 1 TR famtor s4f
(1) This temple was constructed during o g_ﬁ - SeIF MINE
’ 5t century A.D. to 6" century A.D. Gzﬁ_ TR D A g
(2) It is one of the oldest brick temples @) geld aw Eﬁ ST
~ of India. - q ¥ TP R : e
Select the correct answer using the code given g T ST T &R '@-\Eﬂf Eal
below — : oA BTG —
Code - Qe -
(a)  Only1 (@) Sad 1
(b) Only2 (b) Hdd 2 _
(¢ Bothland2" (¢) 1 3R 2 THi
(d). Neither 1 nor 2 @ Sar1-reE2
47.  Who among the following visitors to India 47. PrfRaa # ¥ $F AR A qrer AT
- did not belong to Portuguese country? g (39) BT TE oY
(a) Duarte Barbosa (@) TIAC IRAR
(b) Domingo Paes (b) SIHT gEE
() Peter Mundy (c) UreR gl
(d) Fernao Nuniz () s AT
48. Who led the ‘Banaras Rebellion’ against.the . 48. s @ el TIRE A= &1 Aga feaa
Britishers? s forar er? .
(a) Shujauddaullah N ¢:)) 5;15“3515“
(b) Asaf-ud-Daulah (b) ITEHIAIAT
(¢) Raja Chet Singh (¢ o =@a g -
(d) Raja Maheep Narayan Singh (d) ST HEY AR Rz
* 49.  Which of the following pairs is_not correctly  49. frr=fafaa TH § ¥ 9 gafea a8 37
- matched? - ok " ' :
(Crops) (Country)- @) (ml <) u@g_g@
(a) Rubber - Thailand 2 : = M
(b) Coffee ~° - Mangolia “(b) DEAI - HAifern
(¢) Olive - Spain () 3|E’I§I - EE|
(d) Sugarcane~ -  Brazil (d) =1 - Sl
50. Water pollution of river is measured by - 50. &Y BT ST YOI HUT SIrar ; o
~ (a) ﬁ::g;mt of Chlorme dissolved in (a) S ¥ g?-ﬁ FAINRT BT /=T J
(b) VAVE:S:M Of Ozone dissolved in (b) T H gell N & 9= |
(© Q:‘tlg:mt of Nitrogen dlssolved in (c) <« # %?.ﬁ TSI B HE ¥
(d) ézzgynt of Oxygen dissolved in - d ¥ El?'ﬁ SRS & 7=
[RRST'Ol‘B]_ Page 11 of 32
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51. Mitali Express runs between which two, 51. fAdreil Wﬂﬂ%fﬁ?@'\’\fiﬁiﬁﬂ EGGINY;
(a) <THT — 11‘41'5'1?3

(b) TTHT — 'aama

cities?
(a) Dhaka - Guwahati

(b) Dhaka - Chattgaon
(c) Dhaka - Kolkata
(d) Dhaka - New Jalpaiguri

52. A Pan-India Campaign ‘Ek Pahal’ launched 52.

on September 17, 2021 was related to -
(a) Justice delivery at doorstep
(b) Vaccination
(¢) Swachh Bharat, Swasth Bharat
(d) Use of Green Energy

53. Hov._r two .identical bulbs should be connected 53.

to get maximum light? \
(1) Both are connected in series’
(2) Both are connected in parallel

Select the correct answer using the code given

below -
Code -
(@) In case (1) more
(b) In case (2) more
(¢) Same in both (1) and (2)
(d) Nothing can be said

(©) T — PG

@) @THT — =] FTATEE
17 Ry, 2ozlzﬁ‘rgﬁﬁwwarﬁm
RO A UF gge Heferd o —
(@) =¥ IUD ER A

b) EPTHRT H

() T8 YRd, W 4R A
@ =RNRasatds T
a‘rwtﬁiﬁrmaﬁmm@aﬁmaﬁ?ﬁ

RieE fef? -

(1) 2 Aol A R
(2) < AR B A S 8
ﬁﬁ?ﬂmwﬁmmﬂﬁwzﬁr -_

TgT DY —

Re =

@ (1) ofrw

) @)

© )R )3 H T
- (d) BB BETE W EHAT
ﬁﬁ%@ﬁﬁ%aﬁﬂﬂﬁgﬁ%ﬁﬂtﬁé?

ke CLil% 62 51 6 BRSRs i oA srafRerfa

ﬁmmﬁﬁ@aﬁﬂa@ﬁﬁﬁﬁaﬂﬁﬁaﬁﬁ

54. Which of the following is not corrcctly 54,
-matched? :
Early Medieval Present Status of
Cities of Uttar - T B -
Pradesh C% e %
(@ Koil = " - Aligarh (@) I/ PIge
(b) Mahotsav . - Mahoba ~(b) FEA TR
Nagas - _ (© wET s
(¢) Mahoday Shree - Kannauj
(d) Jaijakbhukti - Kaushambi (@) ST gf
55. In which of the following states, the area = 55.
-under Tube-well irrigation is the highest? Hared 87
(a) Uttar Pradesh (@) SR U_W
(b) Bihar - (b) feErR
(c) = Punjab Yk (c) EIFﬂTsr
(@ =sRamwn

h(d) Haryana *~ 1 rfiomr

[RRST-01-B]
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 56.

57.

58.

3 59-

. 60.

‘DAVINCI+ and ‘VERITAS’ - two new

mission announced by NASA, are related to - ‘

(a)

Moon
(b) Venus
(¢) Mars

. (d) Jupiter
The main objective of “Sangam Yojana” is -

(a) To increase welfare of handicapped
person R

. (b) ' To link rivers mutually

(c) To make rivers pollution free
(d) To.enhance national integrity
Which among the following states was

awarded as the best training state for “Van
Dhan Yojana” by the Government of India in

- August 2021?

(a) Nagaland
(b) Mizoram -
(¢) Meghalaya
(d) Madhya Pradesh
Match list-I with list-II and select the correct

answer using the code given below :

List-I - List-IT
Five Year Applied Growth Model

A. First 1. S.Chakravarty Model
. B. Second 2. Harrod-Domar Model
' C. Third 3. Ashok Rudra Model

D. Fourth 4. * Mahalanobis Model
Code : '

et 2B G T D

(a) R - R - Q- ¢

B 2=d 1 &
W w8 Tis 2 A

(d) 2 1 4 - 3 .

‘Which of the following Sultan appointed a

special army to protect the boundaries of the
empire? e

(a) . Iltutmish

(b) Nasiruddin Mahmud

(c). . Balban )

(d) Alauddin Khilji

56.

57.

58.

59.

60.

T e e et Lt G N WA —

‘DAVINCI+ 3R ‘VERITAS’ — =1 am'
HifYg < A7 Ay, Fafta € —

(a) T ‘

(b) Yh

(c) HTA

(d) gewfd ' :
“HTH a‘r\—ﬁr’_ T T S ' =

(@) fAEart @ T gig weEm -

(b) AfREl B WER ST

(c) Rl BT WguT Jad HXAT

(d) NTSET YHar BT derdr oAl
fr=feRag 3 9 e g @1 IR 2021 #
Hors e g @ w A et fea
gT?

(a) TS

(b) . fAciRE

(c) ¥HIe™

d ==

-1 & gA-—11 & ey e S, i
oy Y dHe # W I SR TAA DI —

S el 5 g 0
Ugadg Ao Ugdd fderd Hisd
A. UH 1.  TH. TEhadl Arsd
B. faim 2. RS—SR Hlsd
C. g 3. WP wg Hisd

- D. aged 4. FETEANSE Hied
ok

' A B - -C D Lo
(a) 1 3 2 4
(b) 2 = 1 3
(© 3 1 2 -+
@ 2 1 4 3

ﬁm%f@aﬁ%ﬁmwﬁmmaﬁ

TR @ GReT Bg Ud favy I a1 g
? " ' .

fan

(@) Fogafae

(b) R AR
(©) 9aq

(d) SrarSEE Raersh

[RRST-01-B]
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61. Which of the following is not a part of 61. fr=foiRag § ¥ @9 e OfemRrar gg FFIE.' .
Polynesia group of Islands? ; BT 9T T8 ’?
(@) Tonga (@) =afm
(b) Tuvalu (b) e
©)  Tahit © wRd
(d) Tinian . @ e E |
62. Which of the following eatables is the best  62.  Fr=feiReq @ uwerf & '\‘?’f GG B
source of all the esscnhal amino acids? AMaTFH WA 3] BT T 'Faf'rﬁ 2?7
(a) Banana (@) Dol
(b) Pulses (b) <=
(c) Egg (© 3ier
(d) Fish (d) HB
63. Given below are two statements, one labelled 63. @ 31 29 fRw v € @ 91 Gﬂﬂ'ﬁﬁ‘d‘[ (A)
as Assertion (A) and the other as Reason 3R TR BT BRI (R) &&T T 2
(R):
Assertion (A): Dadabhai Naoroji . AfNBA (A): qﬂ-(ﬁ'q Ul W iaaa;” co
; organised the East India -~ forg <reT™rg RSN A 1866
Association in 1866 in ¥ dgq # e sfear
London to discuss on TAIfgeE &1 e |
Indian questions. BRI (R): g fafewr SR @Y
Reason (R): He wanted to influence : TIfad BT aTEd o |
' the  British  Public T Ry v o 4 98 S o1 T899
Opinion. BT : =
Choose the correct -answer from the code o '
given below :
(a) (A)is true but (R) is false : Eab)) m ﬁf%i ﬁﬁ'ig (R[){ ﬂ_&prla'“ g
(b) (A) is false but (R) is true A) @R (R) =% “\gﬁ) ¥ aik
(c) Both (A) and (R) are true and (R) is . © . =l R) ®), (&)
_ the correct explanation of (A) T
) Both (A) and (R) are true but (R) is C @ @) R (R) TS F R R), (A)
: not the correct explanation of (A) o @) el AR e R
64. How many letters of the English alphabet 64. 3fUSH aofaren & fham QR (Ddied) va ggor
(Capitals) appear same when looked at in a ¥ 3y el &Y @ gaF feaErd g
mirror? ; ' C
@@ 9 @@ 9
(b) 10 () 10
(_C) 11 () 11
@ 12 : ; ) 12
65. Which one of the following is different from  65. ﬁwf%rf?srcr ?:Fié' ‘?T J BIF AY ?ﬁ'rr '\ef = E\.'?
‘the rest of the three?
(a) Direction (a) ﬁ‘-‘ﬂT :
(b) Compass X (b) T
(©) Needle - ST (©) _‘T"‘
(d) Magnet RISy 57 (d) TIs
[RRST-01-B] Page 14 of 32




66. Which of thé, following is not correctly

matched?
- (Language) (Country)
(a) Danish Denmark
(b) Dutch Netherland
(¢) Mandarin China
\(d) ~Bahasa Thailand
67. Which of the following statement is not
correct?
(@) Human ear becomes most sensitive
at 1000 Hz.

(b) = Human eye becomes most sensitive
for red colour.

(c) Persistence of hearing is
second. ;

(d) Persistence of vision is 1/16 second.

- 1/10

68. Find out the missing number in the following

figure -

5 6 12

4 3 4

2 3 ?

18 | 27 | 96
(@ 4
i () 5
: )~ .3
@ 6

69. Which ofthe followmg Iron and Steel Plant is
not located on a river side? '
- (@) Bhilai..
(b) © Bokaro
~ (¢) Jamshedpur
. (d) ' Bhadravati

~ 70. ‘Which of the following is related to Brent
Index? _
(a) Crude oil prices
(b) Copper future prices
(¢) Gold future prices
. (d) Shipping rate Index.
| 71.  The silk produced by spiders is called -
(a). Tussar silk
. (b) Gossamer silk
(¢) Munga silk
(d) Ahimsa silk

66.

67.

68.

69.

70.

71.

I —— S o AT e P

fr=fafeaa # | @Iar gafed 71 87

(wTaT) (&%)
(a)  sf=r SHHTS
b)) =TI Hrevels
(¢ #HaiRA CIG|
(d) '™ D) o K1
fr=felaa & ®ITar doe w8 el 8?2

(a) njma?rmlooosémww

© guTEl BT B

(b) Hﬁmaﬁmmwzﬁmm
s gt Bl 2

(© ga#aﬁqammoﬁa%usﬁrﬁr%l

(d) gfe P gedr 1/16 ¥Hvs Bl § |

fr=ferRaa ampfa § g e s ST

5 6 12
4 3 4
2 3 2
18 27 96

(a) 4.

() 5

() 3

da 6

ﬁwﬁ'ﬂ?ﬂﬁﬁﬁaﬂﬂwﬁﬁg—mwaﬁ

aau'\’ﬁaﬁﬂtﬁ%?

(a) ﬁi?'ﬂ‘sf

(b) BRI

(c) THATY -

@) weTad e
frafaled § @ o9 ¢ SSa ¥ Hafdg 27
(a) = Aol B DA

(b)) Y & 9o @ HEd

(©) . A & vfasm & dEd

@ =t R s
w%ﬂmwﬁﬁmm%—
(a) TR WH

(b) - TR XTH

(©) T xem

(d) rfEar em

[RRST-01-B]

Page 15 0f 32




In which of the following year almost the 72.
entire area of present Uttar Pradesh was
separated from Bengal Presidency and placed
under Agra Presidency?
(@) 1832 AD.
(b) 1833 AD.
() 1834 AD.
(d) 1835AD.
73.  What was the name of the poet, who wrote the ~ 73.
popular poem “Firangiya” in Bhojpuri against
‘British Colonialism’?
(@) Manoranjan
(b) Ranjan Prasad
(¢) Triloki Singh
(d) Rajendra Pandey
74. Match List-1 with List-Il and select the 74.
correct answer using the code given below —
List-1 List-IT
(Fruit) (Largest Producer)
(A) Mango (1) Jammu and
Kashmir
(B) Litchi  (2) Kerala
(C) Coconut (3) Bihar -
(D) Apple (4) Uttar Pradesh
Code -
A B C D
(@ 4 3 1 2
(b) 1 2 3 _ 4
(c) 4 3 2 1
d 1 2 4 3 )
75. Consider the following events and arrange  75.

these in chronological order — _
I.  Assassination of Curzon Wyllie
II.  Execution of Khudiram Bose
III. Starting of ‘Kesari’ newspaper by Bal
Gangadhar Tilak '
IV. Starting of ‘Al Hilal’ newspaper by
Abul Kalam Azad
Select the correct answer using the code given
below : '
(a) II,IL,IandIV

(b) II I IIl and IV
(¢) LI IVandI
(d) HIOI,TV,Hand]I

Fr=fafaa ¥ 9 few ad ada@ ST U= &1 |
T Gl &3 e WSl 9§ 3T B
IMRT WNSA & anfF & f&gr 1ar?

1832 %
1833 &,
() 18347%.
(@) 1835%.
fafty sufrmEr’ a‘»ﬁwmﬁrgﬁﬁaﬁasmu
wfqar “fsfrar” mﬁ"aﬁmmmm
oIT?

(a)
(b)

(a) ¥ARSH
(b) ISE TR ;
(c) P Riz
A 8) e
%qﬁw ﬁﬂﬁwwmaﬁﬁm—
-1 a'rirﬂ
(®e) (e 9ST SARS)
(A) (1) 7 IR FER -
(B) = (2) BA -
©) =REa (3) REr -
(D) 4 (4) SR U
e -
A B C D
(a) 4 3 1 2
M 1 -2 3 4
(© 4 3 ) 1 {
d 1 2 4 3 R
frefafad geqdari R fAar $IRT ik s
FHIAHAGER ZaRed BT —
1 Puid drgell I &l
I QERM 99 B Gogas
M. aeFFmER s gRT &) JaER
gd &l URHA
IV. mgawwmfm%mw

JHER 9F BT URA
£ Ry MY Be BT FAT HRD el SR BT
g9 BT
(@ ILILISRIV
() I T, HI3RIV .
(© LULIVSRIT,
(@ M1V, 13RI

[RRST-01-B] .
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76. '\ Indonesia does not share its land boundary
x with which one of the following countnes"

\ (a) Brunei
" “(b) Timor-Leste
(¢) Malaysia

(d) Papua New Guinea

717. Ind;a Urban Observatory is situated at which
~ one of the following place?
(a) \Dehradun
" (b) New Delhi
(c) Chandlgarh
(d) V:’:ranasi

78. The pracuce of gootee in planls is used for the
purpose of -
(a) Contrql of insects
(b) For vegetative propagation
(¢) Germination of seeds
d) Weed control

79. Which of the following is not one of the
twelve ‘HRIDAY’ cities chosen for holistic
development of heritage cities?

(a) Agra

(b) Gaya

(¢) Pun

(d) Warangal -

80. - The second most important source after fossil

' fuels contributing to Indian energy need is -
(a) Hydropower energy '
(b) Wind energy
() Nuclear energy
(d) Solar energy

81. “Kashi Lalima” is the variety of which of the
following crops?
(a) Carrot
(b) - Okra/Lady finger
(c) Onion
(d) Tomato
82.  In India, businesses with an investment upto
%1 Crore and turnover upto IS5 Crore are

76.

77.

78.

79,

. 80.

81.

82.

geHRm fFr=fofRaa # 9 5w <o @& |
Hfr ATe TE HRAT 87

(@) g3

(b) fHR—

(c) WM.

(d) urgam =g
wmm(axmﬁaﬂ)ﬁwrﬁ-ﬁ@ﬁﬁ
¥ fra @ w® Reg 8?2

(a) <A

(b) =3 el

(c) =SNG

(d) TR
tﬁﬁﬁ@aﬁﬁﬁﬁﬁﬂimﬂﬁ@
%gﬁmm%? :

(@) @D Fra=ersg

(b) TFERIE TERT & Y

() 96 & 3fEoT TG

@ WRIaaR & e 'y
refafad § 9 oA kg =Rl & |\ Yy
fasra & fag g4 U ARE gGd' (HRIDAY)
el | A8l 57

(a) ST

(b) T

©

(d) IRITA

Gﬂaﬁqsuﬂtﬁmwﬁaﬁm

e arferar ﬁﬂ%@ﬁﬁ%f&sﬂmaﬁ‘
woTifar 82 -

(a) TOR

b) =

(© 9O

(d) THER
Wﬁ%m@mﬁﬁﬁﬁlw@?m

AT BRIER 5 RIS IdF 2, I ST Il

known as - 3 _
(a) Tiny Enterprise .
(b) Small Enterprise g'))) BIC ¥eA
(¢) Micro Enterprise © g 'Ga“
(d)° Medium Enterprise REH- SEH
' (@) wegH SEd
[RRST-01-B]
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Which of the following king/kings was/were

FrefRed 3 & o /fo <oT /XIS Y

83. 83.
elected/chosen directly by the public? WAl §RT Ucdel %y 9§ g?ﬂ r?
(1) Harshavardhan (1) gl
(2) Gopal (2) U
(3) Yashovarman 3) T
(4) Nandivarman Pallavamalla 4) AfgadT YeoraHed :
Select the correct answer using the code given = Ry Mo He 3T T Fﬁpf IR BT
below — ' ?RFI W _
Code - _
(@) Only (1), (2) and (4) (a) Fad (1), (2) iR @) -
(b)  Only (2), (3) and (4) () @Fa (2),(3) 3R @)
(¢) Only (2)and (4) (©) @aad (2) 3R (4)
84.  Which of the following Island is known as  84. FY=ifaRed # @ frg 219 @ a2 LAl (L
“The Land of Promise”™? ®Y H SET S 87
(@) Cuba (@) gar
(b) Java (b) Gmar
(¢) Sulawesi (c) et
(d) Mindanao - S ) fHemRY
85. The_ percentage of work force in total 85. TR U & fA SAHET ﬁ P qd BT
population of Uttar Pradesh - yfea & — e
(@ 18.5% (@) 18.5%
(b)  23.7% (b) 23.7%
© 302% © 302%
d 312% d) 312%
86. Which one is odd among the following 86. fifeilRad "ﬁf{:&-’# kil ?ﬁ‘h & 37T '%?
group? '
(@) Tokyo " (a) aa’a‘r
(b) London (b) <&+
(¢) New York “(c) RTTWJ‘
- (d) Beijing (@ AT
87. How many 3’s are there in the following 87.' f=feiRad argen # ¥ fha 3 €1 e
sequence? Which are neither preceded by 6 3% yeel 7 oI 6 § 3R A g)f w e H 9
nor immediately followed by 9? ??
© 9,3,6,6,3,9,5,9,3,7,8,9,1,6,3,9, 6,3,9 9,3,6,6,3,9,59,3,7,8, %1,6,3,9, 6,3,9
(a) Four @ =R
(b) Three - (b) =
(c) Two (¢
(d) One : : d) s
88. Which of the following was declared as his 88. f=ifiRgg & ¥ foy Toam® ef 37T
successor by Guru Nanak? | ISR =T ﬁ,—m orr?
(a) Bala (a) - qTell
(b) Lehna (b) <&
(¢) Mardana (¢) WRQHEI
(d) Sri Chand @ =g
Page 18 of 32
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89. Match list-I with list-II and select the correct ~ 89.
\ answer using the code given below - '

‘ List-1 List-IT
(Minerals) (Industries in
which largely
! (A) Limestone (1) Cement
‘ (B) Copper (2) Electrical
, goods
.(C) Bauxite  (3) Aeroplane
Manufacturing
(D) Manganese  (4) Steel
Code -
A B C D
(@ 1 2 3 4
() 2 3 1 4
c 4 3 2 1
d 3 4 1 2

90. 'In the following number series, a wrong 90.
_number is given- i
2,6, 16, 38, 84, 168, 368, 750
The wrong number is-
(@ 38
(b) 84
(c) 168
@ 750 ,
91.  Which of the following state started E-ration ~ 91.
Card Service in first time? '
(@) Gujarat
(b) Maharashtra
(¢) - Uttar Pradesh ~ -
(d) Delhi

92. In which of the following historical ~ 92.

-1 B 11 2 G BRI 7o
faU T e BT YA B FEl SR BT TIA

‘W_gﬁ_ | A1
—1 —11
- A W SWERT
2 fan wran )
(A) TAT TeR 1) e
(B) &I (dfan) . (2) fasten ®T
' AEE
(C) diFarse (3) ®AE WETA &I
(D) HTS (4 @
'@_
A B C D
‘@ 1- 2° 3 .4
b 2 3 1 4
© 4 3 2 1
d 3 4 T T '
. FrafaRae A 8 3, U Tod G oY S
Py ;
2, 6, 16, 38, 84, 168, 368, 750
Ted GE&T & —
(a) 38
- (b) 84
(©) 168
(@ 750
 FrfaRaa =gt 3 3 e S—eE &€ |ar
[avH AR f&6?
(a) oI
(b) ¥WERTSY
() SR U
@ R -

; melas/fairs of Uttar Pradesh both Hindu and " 1%1 3R Wﬁ o o 2?2

.I Muslims come? ' '

i[ (@ Nauchandi Mela (a) e P Hel

|i ) Bavaro Baba Mela (b) 9TERY 9ET BT el

| _ (¢) ' Fuldol Mela © HASIA BT Fell

i- ; (d) Bateshwar Mela (d) TR BT AAT
[RRST-01-B] = ~ Page190f32
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Match list-I with list-II and select the correct

93. 93. i‘l‘rﬂ—l Eal ﬂ;ﬁ—u | gafea a%ﬁm I qﬁﬂu’r
answer using the code given below — Ara g BB i _ﬁﬁ il
T aa-r I HIfg — :
List-I List-II -1 _ =11
(War) ‘ (Years) (g=) ' (@)
'A. Second Anglo- 1. 1803-05 A.D. A. fa-cﬁa qA-RR q& 1. 1803-05%.
Mysore War - B. fada arire-miR 2. 1780-84 .
B. Second Anglo- 2." 1780-84 A.D. _ g L o
French War : C. fgdm ara—wer 3. 1878-80°%S.
C. Second Anglo- 3. 1878-80 A.D. qg . ' .
Maratha War :
: fedra ara—ampma 1750-54 €.
D. Second Anglo- 4. 1750-54 AD. 2 % 17.50 Shx
Afghan War . : 3=
Code : e ; .
O T R, A B C D
@, 24 1 3 @) . R4l B
® 3 2 4 ® 3 2. 4 1L
O A g g ®- .1 . & .34
@ 4 2 3 @) = 4. g R
94. The last Subedar of *Bengal, who was. '94. | TS FIEATE NI FAgaa S BT 3w qaaR
appointed by Mughal Emperor - T —
(@) - Murshid Quli Khan (@) FRfE Tl @t
(b) Sarfaraz Khan ‘ (b) BRI &
(¢) Shuja-ud-Din Muhammad Khan () YeIrseq e kG|
(@  Alivardi Khan @ SefEei @ :
95.  Which one of the following districts of Uttar  95. fy=ifeiRad # & SR WY T T S0
Pradesh does not share border with Nepal? . YT ® AT AT I3 A8l BRdl 87
(a) Balarampur ., (@' TRHR
(b) Shravasti (b) AR
() Kushinagar () ?ﬂ‘i’lﬁ"ﬂ
(d) Lakhimpur Kheri @ o
96. Which of the following pair is not correctly  96. . fr=ifoRaa . '\‘Ef fﬁh |1 g e H’\ﬁﬁ‘f &l
matched? 4 :
- (Country) (Capital) @) . (erome)
(a) Antigua and- -  SaintJohn’s (a) - Ufeen SR - . He W
Barbuda ; qRYST .
(b) Dominica -  Santo Domingo (b) <iffer - der st
(c) ElSalvador - -San Salvador (¢) I AaiSR - ¥ FedleR
(d) thamas - Nassau ) e ATETS
97.  How is liver affected on fasting for more than  97. <9 fea @ e ﬁ? d& Judrg fh—":‘[ W
10 days? féray W a1 wTE TS @7 |
(a) Glucose level in liver diminished (a) fIR A PN TR BH 8 WGT B
(b) Glucose level in liver increases (b) R # TP ®R AfE & war &
(c¢) Inliver triglycerides decrease (0 foR ¥ grEfawsEsya ges o @
(d) Inliver triglycerides increase ) foR % grRfawsssy 9eq T g
[RRST-01-B] Page 20 of 32




98. Which of the following statement/s is/are 98. WRAY Yod & g=d ¥ fr=fafag o=t A
correct with reference to Indian Railways? A H /A FU_ A8 2/ 87
(1) - Achieving 100 percent (1) 2023 TF ?ﬁ—gﬁ‘ﬂﬁ fredia=er oled
_ electrification by 2023. U BT |
| (2_.) A net zero carbon emission network (2) 2030 dF QFI Eﬂéﬂ G?\qd:r w |
. by2030. , ﬁﬁﬁuwrﬁszﬁrmmm“rwaﬂ
Select the correct answer using the code given - T BT — ;
below — ——
Code - i ;
(a) Only(1) (@ @I (1)
(b) Only (2) ® Q) -
" (¢)- Both (1) and (2) (© (3R (2) <=
~ (d) Neither (1) nor (2) @ F @) TTE ()
99. Who is the author of the book “Sanskriti Ke 99. "W¥pfi & AR AW’ YRd & o@D DI
Char Adhyay”? &7
(a) Mahavir Prasad Dwivedi (a) Fiﬂlirll'\’ e fgady
(b) R Rig sy
(b) Ramdhari Smgh Dinkar APr vy .
(c) Maithili Sharan Gupt (:'-l) ek qﬂ?'?
(d) - Jaishankar Prasad C)
100. Which of the. followmg is not correctly 100. fy=faRaa § | &9 &l ﬁﬁlﬁ{ﬁ 8l ®?
| matched? ' - (R Ry @ WeRe  (@rE /8=
(Historical Melas/ _(ﬂaccsze ion e ( - / )
L fairs of Uttar @
[ Pradesh) ; ,
(a) Jal Vihar Mela - - Bundelkhand s (@ e RER T A - GRS
(b) Bateshwar - “Western Region (b) Eﬁ."&'ﬂl’\’ Eal 15IF‘IT - qﬁﬂ‘ﬂﬂa .
Mela e :
(c) Baldev Chhath - Purvanchal (©) ORI BS BT Hell T“hﬂ
"~ Mela , T :
. , d W BT AAT  —  HOTUWR
3 (d) = Shukratal Mela - ~Muzaffar Nagar ' . @ S
101, Which of the following pair/s isfare correctly 101, Pr=ifrRae g 3 ¥ @ w1/ w
Is matched? g o
| (1) Beet - Sugar . (1) , gF< s TE _
. (2 Honey - Glucose and Fructose 2) TwEY - TEN Gﬂ? ThaC
(3) Cotton - Cellulose 3) @UH - qega
4 Milk - Lactose @ Ty e
Select the correct answer using the code given A f&y T He & WéﬁTT TP el SR B
below - , TG BIAY —
; Code - o He —
(@) iny(l), (2) and (3) (@) Faad (1), (2) @ 3y
(b) - Only (2), (3) and (4) (b) FIA (2), (3) TAT (4)
() Only (1), (2) and (4) (©). DI (1), (2) @7 (4)
(6] -0 ) @ (1), @, BT @
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102. In the second half of 18" century, who was 102.
often called the local representative of “Aura
and Authority of Company Bahadur?
(a) Kotwal
(b) Daroga
(c) Amala
(d) Landlord (Janundar)
103. A farmer, which has land holding between 1  103.
“to 2 hectare is known as -
(a) Marginal Farmer
(b) Big Farmer
(¢) Medium Farmer
- (d) Small Farmer
104. Given below are two statements, one labelled 104.
as Assertion (A) and the other as
Reason (R) - ' ‘ ’
Assertion (A): Rabindranath Tagore
renounced Knighthood.
Reason (R): He wanted to participate
in the Non-cooperation
Movement.
Choose the correct answer from the code
-given below -
Code - - '
(a) Both (A) and (R) are true and (R) is
the correct explanation of (A)
"(b) Both (A) and (R) are true and (R) is
not the correct explanation of (A)
(¢) (A) is true but (R) is false
(d) (A)is false but (R) is true
10S. ‘Electricity’ is related to ‘wire’ in the same 105.
way as ‘water’ is relaled to-
(@ Jug
(b) River
(c) Bottle
. - (d) Pipe
106. ‘How many Mahajanapadas were located in, 106

present day of Uttar Pradesh among the oldest
sixteen Mahajanapadas of India?
(a) 06

(b) 07
(c) 08

1891 I B SIRIE A P9 UG “Hu
qEIGR B I mwﬁﬂqﬁrﬁfﬁ
DET ST o417,

@) oA

~(b) TR

(¢) a¥a

d) THRER
Wmmﬁmﬁumlﬁzéﬂ%mwm’m
2, ST ST ¥ —

(@) T FuD

(b) ST PuUB

(©) 7= $uF

' (d)

WD |1 poe fav Wy g, Q‘cﬁ‘cﬁr?ﬁﬂﬁ(A)ﬂﬁT
TAT B 3R T B SR (R) —

FYF (A): ' REEARS SR A ASCES DI
Uiy &Y T 3|

q AU QT H AT AT
TEd. |
%ﬁqwﬁmmmﬂﬁwaﬂ

DRI (R):

L FgE B -

T — = )
@@ (A) R (R) I TR € 3R (R), A)
B HE AT BT &
(A)amm)aﬁ’mﬁr%“wm)m)
P el ARAT 8l B

(©) (A) 98 ? W (R) 7Toid

d) (A) TIT § UG (R) e ®
ﬁgﬁmw‘ﬁwﬁﬂaﬁﬁ%aﬁrm
o e 2—

(a) v

(b) =

(0 "dma

(d) gr=w

(b)

._aﬁmﬁwmﬁwaﬁwm'
. HENTUE # ¥ @ fha #gereug Rerd o7

06
07
08

- 09

(a)
(b)
(c)
(d)
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107.

Which of the following cities in India has the . 107. f=faRag wRd RF # #fea aRadt @
lowest percentage of slum population as per farerd 2011 B ST & AR, ?ﬁ'@[ HH
2011 census? Er Y -
(a) Ahmedabad (3) O RLHEI
(®) Jaipur
(¢) Lucknow g:)) :;?;m
(d) Bengaluru _ @ T
108. *Jhini Jhini Bini Chadariya,’ a famous Novel = 108. 3791 WHJ &I =ftid SU=aTd 3ﬂ=ﬁ EIRIRCIE!
of his times is written by - TeRar & o9 & —
(a) Kashi Nath Singh (a) e T RiE
(b) NeerjaJadhav (b)  HReT SR
(c) Abdul Bismillah © e RiFes
(d) Ajay Mishra (d) o s ;
109. In 1993, which of the following language was  109. 1993 #, f=feRad ¥ ¥ BrRY W SIGE]
" not included in the Eighth Schedule?. gl # wfaferd =€ @ Y -
" (a) Maithili ‘ (a) #fren
' (b) Santhali_ (b) 'ﬂ‘venf»ﬁ
(¢) Bodo - (c) :
- (d) Dogri @ S
110.  In a Sitar, which type of sound vibrations are. 110. ‘v RiEw #, W TR ?ﬁ wfy *d'\n‘f IO
: produced? Brehl &7 :
(a) Progressive and Longlludmal (@) W Td e
(b) Progressive and Transverse () Y T IR
(c) Stationary and Longitudinal (c) TR . ey
. (@) Stauonary and Transverse (d) T Td TR
111.  Which of the followmgnumenlls mostuscful 111. oHEr ad ﬂﬂﬁ H dd @ A= qem |
. for enhancing oil content in mustard crop? e Suarf 87
(a) Calcium : (a) fezrw
(b) Sulphur (b) HTHX
(¢) Zinc - (c) oI
(d) Iron . @ e
112. Which of the following is not correctly 112. Prfelad # & B w& gifera :@ o0
matched? ’
Foreign ~ Year/s of Tour ﬁ'&*ﬁﬁ R} HRA FHOT q§
Travellers to India (a) wIfEgE —.399 q 414 §.
. (a) F::T—Hlenl _ - 339-‘;14: ig . " (b) &1 9T — 629 9§ 645 €.
ih By B i © sRET . -~ 6799695 €
(c) “ I-tsing - 679-695 A.D. (d) - ST _ o578
(d) ‘AI-Masudi - 957 AD.
113. “Shabri SanKalp Abhiyan” is associated with- 113, €% Hebeq IJPAH" FT Haer & —
‘ (@) To help those poor people who are (@) S arT TN T B Y ST
' below the poverty line HEIIAT HRAT o
~(b) Empowerment of Women (b) RN &1 wufdasvr
(c) A scheme for self help groups (©) < wergdn |l & forg aemr
(d)' National Nutrition Mission (d) ISE gIoT AT
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114. Consider the following - 114,
(1) Kalaripayattu 1 :
(2) Thang-Ta (PATD G
(3) Mallakhamba (3) ¥Horgw
.(4) Gatka 4)  TTaer :
Which of the above game/s has been included SuiE ¥ ¥ 59 Ial 3 de g g
in “Khelo India Youth Games™? =y ¥ wftafera R mar ¥2 '
Select the correct answer using the code given RIEREN B BT FAIT HRS Fel SR BT Fad+T
below - : BTG — ' '
Code - . K€ -
(2) Only(1)and (2) (@) dad (1)3R (2)
(b) Only (2), (3) and (4) (b) Bt (2), 3) 3R (@)
(© Only (1), (3)and (4) (€ Bad (1), 3) 3R (4)
@ (1),(,(3)and @) @) - (1), (2), (3)3R @)
115. ‘Djibouti’ Code of Conduct is related to - - 115. ‘Rl e wfgdr wafd & —
- (@) Conservation of Congo basin (@) HIM Zof BT ERETor
~ (b) International Maritime grouping NI e
) against piracy " 4 : :
“(¢)  Charter of ethics () e ST HEEn O
(d) f’el'siilciplm' for conducting nuclear (@) REY qﬁmw Rrgia
116. With reference to the Indian National 116, TR we¥ & fafr= Rl # smafe ey
Congress Session held at different places of TS BN B AR B Hf N, Gy 5y
Uttar Pradesh, match Tist-I with list-II and -1 9 AT FITC T M Ry 1y e
select the correct answer using the code given BT AT FRD el SR BT 7T Bifdg
below - . 10 SR - 0t
List-1 List-IT (&) ()
(Place) (Year) A WS L. .1916.
A.  Meerut 1. 1916 B. BHYR 2. 1905
B.  Kanpur 2... 1905 ;, C. GICRED 3. 1946
C.  Lucknow 3. 1946 p. @RE 4. 1925
D.  Banaras 4. 1925 .
Code : ; o ‘
;e b A B C D ,_
C e ¢ o ,-
A B : @ 1 4 3 9. .
(@) . _ 1 4 3 : ®) 3 g - 4
(b) 3 1 2 ) © 3 4 1 2
(c) 3 4 | @ 2 3. 4 1
(d) ) 4 . ol : o
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117. Italy launched its first “Food Mega Park” in  117. S 2021 ¥ S2ell ¥ W=l ¥ o7 U "8

India in June 2021 at which of the following Yo7 T FrefRed ¥ ¥R R R T
place?. far?
(a) Jaipur @ ‘
(b) Fanidhar b)- 3R
(¢) Ludhiana ° - ©
(d) Kochi @ §E| EEI gl
118. Consider the following events and arrange 118, f=ifafaa Tedll W faR FIRW iR 5
these in chronological order : PIAFATTAR araRed AT
I.  Development of ‘sugar industry by L it ERT T 9T @ R
Indians : : .
IL  Starting of first jute mill in Rishra EI ‘ ﬁq{;‘??g ggﬁg :fﬁ BIC]

III. Production of steel in India for the

first time V. T/ ¥ 9o¥ dusT e &1 uRq

IV. Starting of first textile mill in Bombay A= &y 7 e BT TART FXD FEl SR Bl
Select the correct answer from the code given 79 B -
below : o ' . TE -
Code - ' f ot (@) LILIV3RII
(@ IILIVandII | (b) IV, ILII3NRI
() IV,ILMandl : (¢ IIIOIaRIV
{;) gi I.HH% ang II“; _ @ I I0, IR IV .
- , 11, Tan : : TR Porex
E 119. A(rrzmge the following = seasons in 119. o gl @ D AR
. Chronological order accounting to Hindu PHIAHATTAR E“Jalﬁ‘\’m PIFSTq—
Calendar : ; @ K
(i)  Autumn g . (ii) s
(i)  Summer = (iii) Fud
(i) Spring ; Gv) auf |
~ (v) Rainy o e Ry T B BT INT BD & TR Py
Select the correct answer using the code given Tg_ HIfTY —
below - - ) | @ (i), (v), Gii) 3 ()
@) (i), Giv), Giii) and ) ' o) (i), Gi), Gv) 3R ()
®) G, i), (V) and () T @ Gv), (i), () 3R i)
,Ec_) (iv), (i), (i) and (ii}) ! @ (), (iv), (ii) 3R (iii)
d) (i), (iv), (ii) and (iii) ' '
120.  As per the 2011 census, the correct ascending '120. 2011 ! TIVHT B TR, ST STy

} . order of the following states in terms of @& e # freferRaa ?]vq‘r BT m .

Scheduled Tribes population is - .y
(@) Arunachal P Ppradcsh, Meghalaya, (a) SrovTEc T, AU, AMTRivg,
_ Nagalaﬁd, Mizoram | ' s

(b) Meghalaya, Arunachal Pradesh, (b) FETE, IPUMAA URY, AR

' Nagaland, Mizoram GRS , !

(¢) Arunachal Pradesh, Nagaland, (©) JRUITHd R, RS, Nerer
Meghalaya, Mizoram o=

(d) Arunachal . Pradesh, Mizoram, L@ orevmEe wE
Nagaland, Meghalaya . . ﬁm
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121.

matched?
Animal Breed

(a) Buffalo - Bhadawari

() Cow . Sindhi

() Goat - Jamunapari

(d) Sheep - -+ Tharparkar

122.  Which of the following statement/s is/are true ~ 122.

for Uttar Pradesh? -

- (1) 1s the largest hub of sugarcane

123.

124.

125. The Disaster Management Act was passed by-

production in India. .
1s the largest milk producing state in-
India. '

is the _highest producer of rice in
Indm

()

3)

(a) Only (1) is correct

(b) (2) and (3) are correct

(¢) (1),(2)and (3) are correct °

(d)  Only (1) and (2) are correct
Dt_lring the reign of which of the following
Sultan of Delhi, Hindu gods and goddesses
were worshiped in royal palaces?
“(a) Qutb-ud-din Muxbarak Khilji

(b) Nasiruddin Mahmud

(©

(d)

Nasiruddin Khusro Shah
Alauddin Masud Shah

Which of the following river does not flow
through the state of Uttar Pradesh"

(a) Son River

(b) Hindon River -

(c¢) Gandak River

(d) Sharda River

the Parliament of India in -

Which of the followmg is " not con‘ectly 121.

123.

124.

125,

ﬁwﬁﬁaﬁ@raﬁwwwmﬂﬁ
R

ki Xl
@ ¥ B i
(b) ™ - =
© TBd - SN
@ s - URURSN .
WW%Wﬁﬂﬁ‘TﬁgﬁiﬁWﬁﬁﬁﬁ
A/ B e &/ E?
(1) wﬁnﬁfwmmwm
2|
2 W?FI'GFCIGH?TGNIGCbW%I

(3) wﬁwwmmw

g

e ()wd 2

Q3IRB)TEE

© (1), )3 @)W &

d) R (1)3iR Q) wd &
ﬁw%@aﬁ%ﬁﬁﬁwa%mw
%Wﬁﬁﬁﬁ%@é‘:ﬁ—awaﬁ
D GoT BT 217

(@) FIIET ARG Raeroft

) mﬁﬁqw S

(© TIHTE GaEsr g

d) IFTSET TS A

frafefea § 4 B9 @ 98 SR Ry I
|/ waifad T8 8 87

(@) 99 T

(b) fRoeT &

(¢) TvSH A

(d) wIRET AL

waﬁwmmwmﬁmmﬁﬁ
B3 —

(a)
(b)

(a) 2001 _'(a) 200@

® 2005 (b) 2005#

(c) 2009 (¢) 2009 ﬁr.

@ 2013 (d) 2013 7
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126. Which one of the following book by former 126. RAeME. @ Yd TIR, fAHeT W =
RBI Governor, Bimal Jalan was published in frafafed & ¥ o9 A §WS o8, 2021 A
July, 20217 - gl g8 of?
(a) The Future of India (3) 4 'q.q\zﬁ‘ 3‘”‘[5 3‘%’{"’
(b) India’s Politics b)) sfeua uifetead
(¢) Emerging India ) gafiT IR
() . The India Story | f;) b bl
127. “When.......was bom, the earth sank two and 127. “SIT f3 STH AV ... T, TR SRV 3rQTE
a half hands.” g
, Above statement /Folk saying is related to Suga Ifa / Apifad DT [ae IR I ?ﬁ
| which historical personality of Uttar Pradesh? fra Yefie ffa | 27
' (a) Vidhyadhar ' (a) faemr
(b) Mahil (b) Wi
| (c) Alha () ares
- . (d) Paramardi )
A 128. Who publishes Global Climate Risk Index 128. aﬁwmeﬁf@nﬂaﬁ?ﬁ e | g1
| Report? ' Wi farar irar 27
!_ (a) United Nations  Environment (a) mrclﬁ QTEQ tﬂZﬁTR'UT HIHH
|} Programme (b)
- “(b) Germanwatch () fawa q“mq fasm deH
| (c) World Meteorological Orgamsatlun @ fawads
} - (d) World Bank
: 129. Match list-I with list-II and select the correct 129. ?ﬁﬁ"l B -1 kil _‘E#I%m RUSNERISIES
- answer using the code given below — feg ¢ | BT T 'E.‘W?ﬁ e ST @l 939
List-I List-IT BIfTg —
(Name of the Act in ear R L | 11
India) (ARaas A eEE D (@)
(A) Forest Conservation (1) 1980 M)
(B) ?1::; Environmental (2) 1986 @) AN LN @ .3
Protection Act _ -(B) * (2) 180
(C) The Air (Prevention - (3) 1981 S
_ : and Control of , © HT{{& Sk G- 1081
_ Pollution) Act - qd ) )
(D) The Water Pollution (4) 1974 (O) A ugEe e (@) 1974
Control Act ' - e :
Code - ol oy
' A B C D A B C D
(@ 3 1 4 2 (@ 3 1 4 2
(b) 1 4 2 3 (b) 1 4 2 3
(c) 4 3 2 1 (c) 4 3 2 1
o d 1 2 3 4 da 1 2 3 4 - oo
130. Which Government enterprises signed MOU  130. STR Wo¥T oy aﬂﬁs’r\r ¥ Ry B @ forg
in August 2021 to invest in Uttar Pradesh IR 2021 ¥ b9 WRBIY Sew o gwsiar
Defence Corridor? SILGH TR
| (a) Bharat Earth Movers Limited v (a) n e
i (b) Bharat Dynamics Limited (b)
. * (¢) Hindustan Copper Limited
. (d) Mishra Dhatu Nigam Limited Efl))
[RRST-01-B] Page 27 of 32




131.

Which of the following is the largest Fresh 131, f=fafaa § 4 a9 wka & waw a1 48
Water Lake of India? Tl B S =7
(@) Kolleru (@) S
(b) Wular (b) Tew
(¢) Nalsarovar () T TR
132.  'Which 6f the following schemes a:erelatedto 132. 7 % @ @ @ aoE] B ﬁ'cﬁl'\'? J
the skill development? . e €7
(1) STRIDE 1) ¥IEs
(2) STRIVE 2) =g
(3) SANKALP (3) WEe
(4) SHREYAS @4) S|
Select the correct answer using the code gwen A Ry g e ¥ W SR BT T
below - © R —
(@) (1) and (2) only (@) B (1) (2)
(b) (3) and (4) only b) DIt (3) AT (@)
((:i) (2), (3) and (4) only : © - BT ), '(3)39“ @
@ (1), (), (3)and (4) only : @ 39 ().Q),0) @
133. The Monochmax Theory was’ propounded 133. AAEEHT (Yhe TRA) ﬁqm 1 T
by - fpam o — :
(a) F.E.Clements (a) UH.S. FofcH
(b) C.C.Park M) L T
(c) D.V.Ager (c) @ﬁ;{ IR
(d) S.J.Gould (d) TES. S
134. Arrange the following words according to 134.. = feg @ AR ?TE%TET ® W&ﬁ'ﬂl? 1
n - dictionary, and find the word that comes on raRerd ARG T H & P31 =,
just second place in dictionary? S e 7 w STl
(a) Conclusion (a) Conclusion
(b) Concentrate (b) Concentrate
(¢) Confidence (c) Confidence . ; _
" (d) Count . (d) Count~ ] : ¥
135. With reference to the Fort William College 135. - fafers et ;5 _g“?li @ W A
Calcutta, which of the statements is/are ’cﬁ’Fﬂﬂ/ ¥ BT /A &/
correct? . g YT 10 S, 1800 § @1 FE
1. It was founded on 10“‘JuneCISO?AD P BIC ﬁﬁ’-l’ﬂ"‘:fﬂa‘r‘qggﬁ g% aﬁ|
within the .Fort William Complex in WIYAT DI
Calcutta. ‘ “ GT% Y qﬂ?ﬁ'ﬂ' wrareli @1 R
2. The main purpose of establishing this a1 o
college, was to teach Indian languages 413 Ry T T B ;ra"m cacy ﬂfi SR BT
to British officers. N
“Select the correct answer using the code gwcn a9 i’
"below : e
Code - (a) ﬁ ;
(a) Onlyl (b) i
(b) Only 2 © 13R23d
(¢) Bothland?2 @ a2
(d) Neither 1 nor 2
page 28 of 32
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Which of the following cities was declared 136.

PreafRed 4 @ 59 TR BT SE 2021 3

" 136.
- winner in “Social Aspect Category” of the oftg R @ A @ 2020 =
India Smart Cities Awards 2020, which were T Tgel Ao H favrar gifte fear
declared in June 20217? o _
@) ;:“p"‘lfi (@ ey
5, g (), “siam
c
. () AR,
d) Varanasi
e () - (d) TR
137. Headquarters of International Potato Centre 137. 3T 3T, T GIECIER Tﬁ) Eai 3@1?{71
(CIP).is situated in - - Re@ e —
‘(a) Lima, Peru (@ 05
(b)  Shimla, India (b) e, R
" (¢) Dakar, Senegal (c) ‘%‘?5?., T
(d) Dublin, Ireland (@ safer, smaRes ot
138. Which of the- following is not correctly 138. fa=ifeiRaa ¥ & B | el '\‘j,'ﬁﬁ-l'ﬁ_;_@_ 4
matched? e ' ' : i
(a) Mahila Samridhi Yojana - 1993 (@) - Afem W& Ao — 1993
(b) Women Self-Empowerment Plan - (b) =fEer wwfdd T — 1998
: 1998
(c) Women Empire Plan - 1989 (¢) Hfeen wEeg ST — 1989
(d) Iz\léggonal Posahar Mission Plan - ‘(d)_ I AEER A A — 2003
139. What is the ‘quorum’ required in the State 139. X154 fuTHEd B JoF JRAT B & forg
Legislature to hold a meeting? . PR (ToTgfl) @ 82 '
_(a) Thirty members or one tenth of total (a) N < A1 oI AT Bl <qar
" membership, whichever is less ; '
(b) One-half of the total membership of S :
: the House (b) Wﬁ?@fﬁﬁmﬁm
" (c) One-fourth of the total: rnembershjp ‘ (© W B T WEA BT H
of the House - CINCGIE i B
(("l)-,. Ten members or one tenth of the (d) <H 9 T Hof qICT DI _a“a'
‘total members of the House, fewar, < f Gﬁa'cﬁ '@r
' whichever is greater
140. In which of the following year, was the 140. ﬁnﬁ%ﬁm ﬁ ¥ v 9 wTRS @w) @
authority. of the British established over the fral R IS B7 fHR. =@nfg g7
. fort of Prayagraj (U.P. )" SR : )
Ry, (a) 1790 A.D. ~ (@) 1790%.
IS - (b) 1792 A.D. - () 17928, .
s - (©) -1796A.D. . | | (©) "1796%.
_ ‘ . (d) 1797 A.D: i ™ @ 1797%.
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